ROSYTH SCHOOL
PRIMARY 1
MATHEMATICS
TOPICAL TEST 1

Name :. ( ) Marks :
Class P11 - Date
Duration : 40 minutes Parent’s Signatire :

30

: 16.2.2012

' Read'ihe questions care.fi.:lly. Anéwer-;a_li'ques’rioné. '

1. Match the numbers and words.

There are ﬁ on the plate.

%



3. Study the pictures carefully.
Put a v inthe correct box.

The number of flowers is

more than

less than

the same as

the number of bees.

4. Fill in the missing numbers in the blanks.




5. Fill in the balloon with the missing number.

There are

There are

There are

bails aftogether.

7. Study the picture carefully. Complete the number bond.

39



8. Study the number bond carefully.
Draw a line in the picture to show the two parts.

ONE Y. "
(0] =50 54 59 51

Use the pic‘rure below to answer questions 9 and 10.

Q. 7 and make 9 .

10. and 4 make €

“d -




11. Match each cake to a candle To make 3.

Strawberry cake

There are

O |

O

Chocolate cake

cakes dftogether.

qh



13. Match the addition sentence to the correct answer.

' A
/ T 4@5
Q)| 4+3= A
b). 541z |- | ® ﬂjcgjzb’

: A
N RV

14. Fill in the blanks.

{a) 2 + = 6

ol 1= 9 [ AAAAANANNN

-6 -




For Question 15, write your addition sentence in the boxes

provided.

15. Mother bought 3 apples.

She also ’boﬁ‘gh‘r 7 oranges.

How many fruits did she buy altogether?

Q

She bought

fruits altogether.

- End of paper -
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3.|v|more than
V]less than
[ ]the same as

4. 10, 6
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9.2
10.5

e ~— !
2
B
e
4
12.3+3=6 R
There are 6 cakes altogether.
13. vAg
I%
DVQ '
A
_ RN
a4
£ Y, Q
A
O~
S0
£ VQ
5+1= A

vAg
p?q

<]

14.a)2 +{4]=6
b)g+1=9

15.3+7 =10
She bought 10 fruits altogether.
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